




In the given sentence, choose the part 

of the sentence that contains an error.



When few people own land and most people live in 

cities, it is quite common to have the highest degree of 

hunger in nations which are exporting food.

1. which are exporting food.

2. and most people live in cities

3. the highest degree of hunger in

4. it is quite common to have

5. When few people own land



A Kathakalī performance typically starts with artists 

tuning their instruments and warming up with beats, 

signaling to the arriving audience which the artists are 

getting ready and the preparations are on.

1. getting ready and the preparations are on.

2. artists tuning their instruments and warming

3. audience which the artists are

4. up with beats, signaling to the arriving

5. A Kathakalī performance typically starts with



Parliament had degenerated into a congeries of personal 

groups, whom members were eager only to overturn 

cabinets in order to secure power for the leaders and 

official favors for themselves.

1. leaders and official favors for themselves.

2. in order to secure power for the 

3. a congeries of personal groups, whom members

4. were eager only to overturn cabinets

5. Parliament had degenerated into



One food writer wrote that reducing the number of 

animal products in one's diet can contribute to better 

his health and well-being. 

1. his health and well-being. 

2. that reducing the amount of

3. can contribute to better

4. animal products in one's diet

5. One food writer wrote



She feared for her brother who was in it, was horrified by 

and amazed at the strange cruelty that impels men to kill one 

another, but she did not understand the significance of this 

war, which seemed to she like all previous wars.

1. which seemed to she like all previous wars.

2. but she did not understand the significance of this war,

3. was horrified by and amazed at the strange

4. cruelty that impels men to kill one another,

5. She feared for hers brother who was in it, 



In each question, one sentence is given. In each sentence, 

certain words are in bold and numbered from A to E. Below 

the sentences are given five options with possible pairs of 

interchange of those bold words. Choose the pair(s) of words 

which are needed to be interchanged to make the sentence 

grammatically correct and meaningful.



As today (A) marks the second anniversary of this (B) worth 

landmark, it is (C) pertinent to ask whether there is anything 

(D) major celebrating in the (E) field of education.

1. A-B

2. B-D

3. A-D

4. B-E

5. C-E



But the education sector is (A) among with mammoth 

challenges and (B) wrestling these are the precipitate decline 

in the (C) quality and standards of education, the failure to 

factor (D) skills and requirements for workplaces into 

learning (E) processes.

1. A-B

2. B-E

3. C-D

4. A-E

5. B-C



While the (A) liberation of the inmates and the (B) effort 

of the concentration camps may have been the end of the 

Holocaust, it was only the beginning of the (C) closing to 

(D) ensure that this should never (E) happen again.

1. D-E

2. C-E

3. A-C

4. A-D

5. B-C



Despite all the (A) strides made in women’s rights, 

business is still seen as a male (B) preserve and this (C) 

belief makes it more difficult for women to get male (D) 

deal in business or (E) partners with their peers.

1. D-E

2. A-B

3. B-C

4. A-D

5. C-D



Societal (A) norms also make it more difficult for women to 

network as (B) venture as men since they will often have to (C) 

combine their business (D) easily with their (E) roles as mothers 

and wives, or caregivers for other older family members.

1. B-D

2. A-E

3. C-D

4. A-C

5. B-C



In the following sentence, a part of the sentence is underlined. 

There are some alternatives to the underlined part which may 

improve the sentence. Choose the correct alternative. In case 

no improvement is needed to choose option 5 ‘No 

improvement’ as your answer.



Framers of the constitution believed that owing to its 

diversity, the country needed a strong government who only a 

parliamentary system could provide

1. who only

2. that only

3. which only

4. these only

5. no improvement.



Walmart India has laid off almost 50  employees in its 

Gurugram  office as a part of its restructuring exercise. 

1. employees as its

2. employees in it

3. employees on its

4. employees at its

5. no improvement.



The  Indian constitution has been a recurring theme in recent 

student-led protests as there believe that fundamental 

principles are being weakened by the ruling government.

1. their believe

2. they believe

3. them believe

4. students believe

5. No Improvement



To bring Co-operative banks, closer to reporting standards of 

commercial banks, RBI has mandated them to report loans of 

over 5 crores or more every quarter to them

1. Too bring

2. For bringing

3. So as to bring

4. by bringing co-operative banks.

5. no improvement.
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